I was quite surprised how poorly I did on the math test!  It is amazing how much one forgets when exposed to different calculators and programmatic aids.

I have included my comparisons and explanations where applicable:
	
	My Answer
	Correct Answer
	Explanation/Reason

	1
	C
	A
	I over thought the expression.  The square root of 4 is 2.  Check: 22 = 2 * 2 = 4 but –22 = -2 * -2 = 4 Dumb mistake!

	2
	B
	None
	Zero divided by any number greater than zero is zero.  Zero divided by zero is undefined.

	3
	0.98
	0.098
	I was careless with the decimal point

	4
	 ?
	-1
	A careless typo error

	5
	C
	All
	Mathematically/programmatically this would not have been an issue.  I took this literally and thought “x is 1” and “x is only 1.”  All statements would return true, thus ‘All’ is the correct answer.

	6
	151/4
	151/4
	Correct!

	7
	5.29
	5.29
	Correct!

	8
	0.4
	0.4 or –0.4
	‘R’ could be 0.4.  Correct!

	9
	0.0827
	0.067
	7 go into 0.46 0.06 times.  0.46 minus 0.42 equals 0.04.  7 go into 0.04 0.007 times.  Answer is 0.067.  Dumb mistake.

	10
	B
	All
	Same literal mind-set as question #5.  “5 is less-than 8 but not equal to 8.  All statements would return true, thus ‘All’ is the correct answer.

	11
	a. 24

b. 2

c. 2

d. 0
	a. 24

b. –2

c. Does not exist

d. 1
	a. Correct!

b. I thought –2 * -1 =-2   -(2!) makes sense!

c. I forgot the rules of factorial notation.

d. No issue.  I forgot the convention.

	12
	Slope = 2

Y intercept = 6
	Slope = 2

Y intercept = 6
	Correct!  Graph would entail solving for a few points and drawing (i.e. where x=1, x=2, and x=3).


This 'diagnostic of weaknesses' is a real help and eye-opener.
Thank you for not grading this!
